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LIFE SCIENCE
Paper 11
Time Allowed : 1% Hours] [Maximum Marks : 100
Note :— This paper consists of fifty (.50) multiple choice questions. Eat;h question
carrying two (2) marks. Attempt all of them.

1. What was the name of First Computer ?

(A) UNIVAC

(B} ENIAC

(C} ABC

(D) MACINTOSH
2. The phase of first generation of computers was spanned over :

(A) 1928-1940 (B) 1933-1951

(C) 1937-1946 (D) 1947-1962

3. Mainframe computers are also known as :

(A) Mini-computers (B) Big iron
(C) FLOPS (D) Z systems

4. Data stored in .......coceeieee cannot be altered by the user.
(A) RAM (B) ROM

(C) Hard Disk (D) Motherboard
T.B.C.-2514/ET-11 2 :
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5. Which of the following is not an input device ?.
(A) Mouse (B) Keyboard
(C) Printer (D) Scanner

6. A large computer network that usualiy spans a city or a large campus

is ¢

(A) LAN (B) MAN
(C) WAN (D) PAN

7. Which of the f.',pllowfng touch-screen technologies uses ultrasonic
waves 7

(A) Capacitive
(B) Surface acoustic wave
(C) Resistive
(D) None of the above
8. A computer VIrus i8 8 ... that, when executed, replicates by
inserting copies of itself.
(A) Software (B) Malware
(C) Application - (D) System file
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9. The original version of dBASE was :
(A) Vaulecan (B) Inspire
(C) Ashton (D) None of these
10. When was WORDSTAR ﬁrst. released ?
(A) 1976 (B) 1979
(C) 1983 . (D) 1990
11. Pyrethrin is olttained-ﬁ-om -
(A) Azadirachta sp. (B) Chrysanthemum sp.
(€C) Carthamus sp. (D) Amaranthus sp.
12. The reason why vegetatively reproducing crop plants are best suited for
maintaining hybrid vigour is that :
(A) tl;ey can be easily propagated
(B) once a desired hybrid hasl been produced, there are few chances ?f losing
it
(C) they have a longer life span

(D) they are more resistant to diseases
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13. Which of the following is an insectivorous plant ?
(A) Cuscuta (B) Opuntia
(C) Nepenthes (D) Guava
14. Jaundice is a disease of :
(A) Kidney (B) Liver
(C) Pancreas (D) Duodenum
15. Dinitrogen ﬁxa;ion.by Nostoc takes place in :
(A) Vegetative cells (B) Akinetes
(C) Heterocysts (D) Hormogonia
16. Improvement of crops by preserving germplasm in frozen state is called :
(A) Cryopreservation
(B) Cold-storage preservation
(C) Vernalisation

(D) In situ preservation

TB.C-25N4/ET-11 8
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17. Which of the following elements exhibits least degree of mobilization from >

a senescing leaf to a young leaf 7’

(A) Nitrogen (B) Potassium

(C) Calcium "~ (D) Phosphorus
18. An ECG is a recording of :

(A) Sounds produced by the heart

(B) Activity of hea;'t valves

(C) the electrical charges in the heart during its contraction and

relaxation
(D) rhythmic activity of filling and emptying of the heart
19. Role of transpiration is high, when :
(A) root pressure is high at night
(B) concentration of water vapor is low in the atmosphere
(C) atmospheric temperature is low
§8)] atmosph.eric humidity is high
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20.

21.

22.

L.S.D., an alkaloid and a psychotic drug, is obtained from :
(A) Claviceps purpurea

(B) Escherichia coli

(C) Tobacce mosaic virus

(D) Cannabis sativa

During centrifugation, which one of the following will settle down at

last ? c
(A) Chloroplasts (B) Mitochondria
(C) Ribosomes (D) Nuclei

In a water molecule, two hydrogen atoms are joined to oxygen atom by covalent

bonds forming an angle of :

(A) 100° (B) 105°

(C) 110° (D) 115°

In a colloidal solution of fine clay and water, the clay particles form the :
(A) dispersed phase (B) dispersion medium

(C) continuous phase (D) none of these

T.B.C-25/14/ET-11 12
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24.

A person will suffer from beriberi, rickets and scurvy if he is not consuming

adequate amounts of :

{A) Vitamins Byo, A and C
(B) Vitamins Byg, D and C
(C) Vitamins A, B; and E
(D) Vitaming Bg, {L and K

Commercially produced enzymes used in the manufacturing of ‘biolo-gical’

detergents are :
(A) amylases (B) cellulases
(C) pectinases (D) peptidases

Biologically stable dead organic material resulting from aerobic decompositior

of organic matter is :
(A) silt (B) humus

(C) fertilizer (D) pesticide

T.B.C.-25N4ET-II 14
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27. All nucleic acids are :
(A) double stranded
{B) polymers of nucleotide
(C) polymers of amino aci:i.
(D) rich in deoxyribose
28.  In plants, richest sources of phytochrome are :
(A) etiolated soedhngs
(B) seedlings grown in light
(C) leaves
(D) stem
29. Canada balsam used to mount coverglass on a slide is obtained from :
(A) Agathis (B) Abies
(C) Cycas 3 | (D) Pinus
30. A bioenergy source obtained by fermentation to supplement fossil fuel petrol
is :
(A) Methane (B) Diesel -

(C) Ethanol (D) Kerosene
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31. In most of cancerous cells :
(A) Telomerase does not respond to repressor genes
(B) Gene P controls production of growth inhibiting factors
(C) Telomerase remains inactive
(D) Multiple copies of telomerase are formed by DNA polymerase
32,  What is the role of cohesion proteins in cell division ?
(A) They organise DNA of’t.he chromosomes into highly condensed structures
(B) They hold the.DNA of the sister chromatids together
(C) They help the cell to divide into two daughter cells
(D) They connect microtubules and chromosomes

33. The ATP molecule can store and transfer energy because phosphate groups

are held together 'by unstable bonds, that :
(A) have a high activation energy
(B) inhibit hydrolysis of ATP

(C) have a low activation energy and makes AG for coupled reactions more

negative
(D) undergo hydrolysis and makes AG for coupled reactions more positive

T.B.C-25N4/ET-11 18
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34. Glycolysis produces ATP by :

(A)

(B)

(C)

I

phosphorylating organic molecules in the priming reaction
production of glyceraldehyde-3-phosphate
the reduction of NAD" or NADH

Substrate-level phosphorylation

35, Cyclin-dependent kinases are regulated by :

(A)

(B)

(C)

(D)

36. In the process of cellular respiration NAD?* functions as a/an :

(A)

(B)

(C)

(D)

the periodic destruction of cyelins
DNA synthesis

Cyclosome

Cohesion proteins

electron carrier
enzyme
final electron acceptor for anaerobic respiration

nucleotide source for the synthesis of ATP

T.B.C.-2514ET-I1 20
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37.  Which concept of species would be most useful to a field of biologists in identifying

new species in forest 7
(A) Morphological
(B) Ecological
(C) Biological
(D) DNA testing in laboratory
38, Which of the following is typically absent in prokaryotes ?
(A) Enhancers (B) Repressors
(C) Promoters (D) Regulators

39. The process that involves transfer of genetic material from one bacterium

to another through bacteriophages is :
(A) transformation (B) transduction
(C) translocation (D) transcription

T.B.C-2514ET-I1 22
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40. The amino tRNA synthetases :
(A) recognize a specific tRNA and a few cognate amino acids
(B) do not require ATP to activate the amino acid
(C) may contain hydrolytic (proof-reading) sites

(D) recognize the tRNA partner on the basis of the anticodon sequence on
the tRNA

41. Dosage compensation is nieeded to :
(A) balance expression from autosomes relative to sex chromosomes
(B) balance expression from two autosomes in a diploid cell
(C) balance expression of sex chromosomes in both sexes
(D) inactivate female-specific autosomal chromosomes
42. Acetyl CoA dehydrogenase are involved in :
(A) fatty acid oxidation
(B) fatty acid synthesis
(C) protein synthesis
(D) alpha oxidation

T.B.C.-25N4ET-11 24
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43. Net primary production can be expressed as :

(A)

(B)

(&)

(D)

Energy per unit area per unit time (Jm? ~ yr)
Total primary production in an ecosystem

Production by the primary producers of the ecosystem

Total nitrogen supplied through biological process of nitrogen fixation

44. Which of the following organisms is incorrectly paired with its trophic

level ?

(A) Cyanobacteri‘um . _ Priméry producer
(B) Grasshopper — f"rimary consumer
(C) Zooplankton <~  Primary producer
(D) Fungus — detritivore

45. The discipline that applies ecologieal principles to returning degraded

ecosystems to more natural state is known as :

(A)

(B)

(C)

(D)

restoration ecology
thermodynamics
eutrophication

biogeochemistry

T.B.C-2514ET-11 26
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46. Nitrifying microbes participate in nitrogen fixation by :
(A) Converting atmospheric nitrogen gas into ammonia
(B) Converting ammonia to nitrogen gas
(C) Incorporating nitrogen into organic compounds
(D) Converting ammonium to nitrate, which plants absorb

47. Convergence means :

(A) Two species with the same phenotype, whose common ancestor is very

far in the distant past

(B) Two species with the same phenotype descended from common ancestor

with different phenotype and genotype

(C) Two species bearing the same phenotype caused by common ancestry
for the same genotype

(D) A similar feature occurs in different species
48. Natural selection is sometimes described as :

(A) Survival of the fittest

(B) Stabilizing selection

(C) Disruptive selection

(D) Artificial selection
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49. Darwin’s claim that all life is déseanded from a common ancestor is best

supported with evidence from :
(A) The fossil record <
(B) Molecular Biology
(C) Comparative Anatomy
(D) Taxonomy .
50. Hardy-Weinberg equilibrium equation calculates :
(A) Allele and genotype frequencies in a population
(B) Allele and genotype frequencieo. in an individual
(C) Mutation rate

(D) Gene flow in grass population
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